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Question Id : 87827026631 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the percentage of boys and difference between the number of boys and
the number of girls among the students of six different schools A - F, who appeared in Board
Examination during four different years from 2019 to 2022, Based on the data in the table, answer
the questions that follow.

School Wise Details of Number of Students :

Year 2019 2020 2021 2022

Boys | Difference |Boys|Difference|Boys|Difference|Boys|Difference
School \| () O (] O Je O [ 6
A 70 136 60 70 75 134 60 86
40 84 48 18 45 48 60 9%
44 60 55 24 60 52 56 24

B
&
D 44 84 57 84 55 72 65 192
E
F

75 280 60 136 70 264 b6 24
44 90 56 96 65 228 45 84

Where Ditference (*) means difference between number of boys and number of girls

Sub questions



Question Number : 1 Question Id : 87827026632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Considering all the four years together, What is the average number of boys who appeared from

school B ?

(1) 424
(2) 434
(3) 438
(4) 454
Options :
878270105041. 1
878270105042. 2
878270105043. 3

878270105044. 4

Question Number : 2 Question Id : 87827026633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the total number of girls who appeared in the examination from all the six schools in
2020 ?

(1) 1364

(2) 1386

(3) 1404
4) 1414
Options :
878270105045. 1
878270105046. 2
878270105047.3

878270105048. 4



Question Number : 3 Question Id : 87827026634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What 1s the ditference between the total numbers of students appearing from school B in 2020 and
that in 2022 ?

(1) 0

(&) 1
@ 29
(4) 35
Options :
878270105049. 1
878270105050. 2
878270105051. 3

878270105052. 4

Question Number : 4 Question Id : 87827026635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of boys who appeared from School Cin 2019 to the number of girls
who appeared from school E in 2021 ?

(1) 5:4

2) 8:7

@) 9:8

4) 10:9
Options :
878270105053. 1
878270105054. 2
878270105055. 3

878270105056. 4

Question Number : 5 Question Id : 87827026636 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

In the year 2019, number of students appearing from School Fis ___ % more than the
number of students appearing from School C:

(1) 40

(2) 66.66

3) 20

(4) 30
Options :

878270105057. 1
878270105058. 2
878270105059. 3

878270105060. 4

Question Id : 87827026631 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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90 56 | 9 | 65 | 228 | 45 | 84
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Sub questions

Question Number : 1 Question Id : 87827026632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Toft R 9] &1 T Y ook e E 9 e e S # aied 9e fadd g 2
(1) 424

(2) 434
(3) 438
(4) 454
Options :
878270105041, 1
878270105042, 2
878270105043 3

878270105044. 4

Question Number : 2 Question Id : 87827026633 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

79 2020 § 9t B faaerdl & vdien <7 gl sfersel ®t S g et €2

(1) 1364
(2) 1386
(3) 1404
(4) 1414
Options :

878270105045. 1
878270105046. 2
878270105047. 3
878270105048. 4

Question Number : 3 Question Id : 87827026634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 0
@ 1
3 29
4) 35
Options:

878270105049. 1
878270105050. 2
878270105051. 3

878270105052. 4

Question Number : 4 Question Id : 87827026635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270105053. 1
878270105054. 2
878270105055. 3

878270105056. 4

Question Number : 5 Question Id : 87827026636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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(1) 40
) 66.66
) 20
) 50
Options :
878270105057. 1
878270105058. 2
878270105059. 3

878270105060. 4
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Question Number : 6 Question Id : 87827026637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which ICT tool allows users to organize and curate content from various sources, such as websites,
articles and videos ?

(1) Edpuzzle

(2) Wakelet

(3) Pixton

(4)  Screen-casto-matic
Options :
878270105061. 1
878270105062. 2
878270105063. 3

878270105064. 4

Question Number : 6 Question Id : 87827026637 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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ARRCETE
3)  fueed
4)

(
(
(
(4) TR FRI-HEE
Options :
878270105061. 1
878270105062. 2

878270105063. 3

878270105064. 4



Question Number : 7 Question Id : 87827026638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The process of comparing a student’s performance against his/her previous
performance is called as ipsative assessment.

Statement 11:  Authentic assessments are assessment procedures that test skills and abilities as
they would be applied in real life situations.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct
Options:

878270105065. 1
878270105066. 2
878270105067. 3
878270105068. 4

Question Number : 7 Question Id : 87827026638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270105065. 1
878270105066. 2
878270105067. 3
878270105068. 4

Question Number : 8 Question Id : 87827026639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the types/sub-types of long term memory ?
(A) Declarative memory

(B) Procedural memory

(C) Episodic memory

(D) Semantic memory

Choose the correct answer from the options given below :

(1) (A), (C) and (D) Only

(2) (B) and (C) Only

(3) (A) and (D) Only

) (A), (B), (O and (D)

Options :
878270105069. 1
878270105070. 2



878270105071. 3

878270105072. 4

Question Number : 8 Question Id : 87827026639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fr= & § F9-3F <eefas @fa & gersy TR 22
(A) ErumeRs Hfd
(B) wrifafis wfa
(C) wEmHE T
(D) emeft wfd
(1) = (A), (©) 3R (D)
(2) < (B) ¥R (C)
(3) A (A) R (D)
4) (4), (B), (C) 3 (D)
Options :
8782701050609. 1
878270105070. 2
878270105071. 3

878270105072. 4

Question Number : 9 Question Id : 87827026640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the name of channel (4 in SWAYAM PRABHA related to social science 2, Education,
Psychology, Homescience and related subjects ?

(1) SANSKRITI

(2) SAARASWAT

(3) PRABODH

(4) PRABANDHAN

Options:

878270105073. 1

878270105074. 2

878270105075. 3

878270105076. 4

Question Number : 9 Question Id : 87827026640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270105073. 1
878270105074. 2
878270105075. 3

878270105076. 4

Question Number : 10 Question Id : 87827026641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the learner related factors that influence learning ?
(A) Learner’s level of aspiration and achievement motivation
(B) Learner’s readiness and will power
(C) Basic potential of the learner
(D) Learner’s physical and mental health
(E) Personality traits and behaviour of teacher
Choose the correct answer from the options given below :
(1) (A), (B)and (E) Only
() (A), (B), (C) and (D) Only
() (C)and (E) Only
4) (C), (D) and (E) Only
Options:
878270105077. 1
878270105078. 2
878270105079. 3

878270105080. 4

Question Number : 10 Question Id : 87827026641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :



878270105077. 1
878270105078. 2
878270105079. 3

878270105080. 4

Question Number : 11 Question Id : 87827026642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Knowledge is arrived at through the gathering of facts that provide the basis for laws, This refers
to the principle of :

(1) Phenomenalism

(2)  Inductivism

3)  Deductivism

)
)
(3)

(4)  Constructionism
Options :
878270105081. 1
878270105082. 2
878270105083. 3

878270105084. 4

Question Number : 11 Question Id : 87827026642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



878270105081. 1
878270105082. 2
878270105083. 3

878270105084. 4

Question Number : 12 Question Id : 87827026643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following is concerned with the question of whether social scientific findings are
applicable to people’s everyday natural social setting ?
(1) Ecological validity
(2)  External validity
3)  Measurement validity
)

(2

(4)  Face validity
Options :
878270105085. 1
878270105086. 2
878270105087. 3

878270105088. 4

Question Number : 12 Question Id : 87827026643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270105085. 1
878270105086. 2
878270105087. 3

878270105088. 4

Question Number : 13 Question Id : 87827026644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : Spearman’s tho (p) is generally employed to measure the strength and direction
of relationship between two ordinal variables.

Statement (II) : Pearson’s coefficient of correlation 't is very useful when relationship between
two variables is curvilinear.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

Options :

878270105089. 1
878270105090. 2
878270105091. 3
878270105092. 4

Question Number : 13 Question Id : 87827026644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270105089. 1
878270105090. 2
878270105091. 3

878270105092. 4

Question Number : 14 Question Id : 87827026645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

[dentify non-probability samples from the following :

(A) Simple random sample

(B) Quota sample

(C) Systematic sample

(D) Snowball sample

Choose the correct answer from the options given below :
(1) (B), (C) and (D) Only

(2) (C) and (D) Only

(3) (A), (B) and (C) Only

(4) (B) and (D) Only

Options :
878270105093. 1

878270105094. 2

878270105095. 3



878270105096. 4

Question Number : 14 Question Id : 87827026645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
frafafe § 9 Tr-wfaewar afaest =t 9g=m =ifaa
(A) TR Jefess afdey
(B) f7ad AN (=hter) wieaet
(C) =Haftea wfaes
(D) feregs (Fraia) wfaes
(1) e (B), (C) $iR (D)

(2) e (C) SR (D)
(3) ad (A), (B) &R (C)
(4) = (B) @X (D)
Options :

878270105093. 1
878270105094. 2
878270105095. 3

878270105096. 4

Question Number : 15 Question Id : 87827026646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following sections of a research report are not considered for similarity checks while
detecting plagiarism ?

(A) Abstract

(B)  All generic terms, laws

(C) Observations

(D) Conclusions

(E) Bibliography

Choose the correct answer from the options given below :

(1) (A), (B) (C) and (D) Only

(2)  (B)and (E) Only

3) (E)Only

) (0, (D) and (E) Only

Options:
878270105097. 1
878270105098. 2

878270105099. 3

878270105100. 4

Question Number : 15 Question Id : 87827026646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270105097. 1
878270105098. 2
878270105099. 3

878270105100. 4

Question Number : 16 Question Id : 87827026647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
When people intend meanings in their communication, they are dealing with :
(1) Projective time
(2) Fragmented time
(3) Perceptual time
)

(4) Psychology of time

Options :

878270105101. 1
878270105102. 2
878270105103. 3
878270105104. 4



Question Number : 16 Question Id : 87827026647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) eId 994

() @fred §94
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Options :

878270105101. 1
878270105102. 2
878270105103. 3

878270105104. 4

Question Number : 17 Question Id : 87827026648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

According to the semiotic tradition, communication is
(1)  Extra-subjective
2)  Non-subjective

) Inter-subjective

)

_ mediation of signs :
(
(3
(4) Macro-subjective
Options :
878270105105. 1
878270105106. 2
878270105107. 3

878270105108. 4

Question Number : 17 Question Id : 87827026648 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tehd-fagm T & STER, TEWT Hhdl 6t TR ¢ |
(1) @ferer-eafaafs
2) R-=AfwETS
() FHAR-AfFTS
(4) =ATH- Al
Options:

878270105105. 1
878270105106. 2
878270105107. 3

878270105108. 4

Question Number : 18 Question Id : 87827026649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Buddhists use communication to highlight the phenomena of :
(A) Human hierarchy

(B) Impermanence

(C) Human suffering

(D) Non-self

(E) Social distance

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3) (), (D) and (E) Only

(4) (A), (D) and (E) Only

Options:
878270105109. 1

878270105110. 2

878270105111. 3



878270105112. 4

Question Number : 18 Question Id : 87827026649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
aiig @ =i w1 v Frefafea aftens i ger ' 8 T ¥ far e
(A) HAME GO
(B) TRl
(C) a3 UM
(D) TR-&TH
(E) wriomp gif
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Options :

878270105109. 1
878270105110. 2
878270105111. 3

878270105112. 4

Question Number : 19 Question Id : 87827026650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are social emotions displayed during inter-personal communication ?
(A) Embarrassment

(B) Guilt

(C) Shame

(D) Pride

(E

) Jealousy
Choose the correct answer from the options given below :

1) (A),( )and( ) Only
(2) (A), (C) and (D) Only

(3) (A), (B), (C )and (D) Only
@ () (8) () (D)and (B
Options:

878270105113. 1
878270105114. 2
878270105115. 3

878270105116. 4

Question Number : 19 Question Id : 87827026650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frafafes & 9 SF-0 gmifes weem § o< siae-oafaas 990 % SRA <o o & 2

NREEREIEET

(B) SIS

(C) et

D) ™

E 3=

< fou o fosed! § 9 W@ I 1 95 i ;
(1) & (A), (B) 3 (C)

() = (A), (C) R (D)

(3) % (A), (B), (O &R (D)

(@) (A), (B) (C), (D) 3 (E)



878270105113. 1
878270105114. 2
878270105115. 3

878270105116. 4

Question Number : 20 Question Id : 87827026651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : Non-verbal emotional expression precedes verbal communication in human life.
Statement (II) : Socialisation inculcates display norms for appropriate emotional communication.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1

) Both Statement I and Statement II are correct
2) Both Statement I and Statement II are incorrect

)

)

(
(3
(

Statement | 15 correct but Statement 1l is incorrect

Statement 1 is incorrect but Statement I is correct

Options :

878270105117. 1
878270105118. 2
878270105119. 3

878270105120. 4

Question Number : 20 Question Id : 87827026651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ﬁﬁmﬁum%:

FoA (1) : -y o sfveafad wa siteq | wfsss S0 § weel 2t €|
T (1) : TSR T WA Ty % e Tev A 1 safaf # g
SR FI & A 5, 1+ fou 7 fomel § 4 ved Iuge I 1 9 Fif
(1) a1 3 e 11 S o &

() TR FII I T &

(3) HUALTE ¢, ol HIA 1 T ¢

(4) R 1T &, AT HOR 1T &

Options:

878270105117. 1
878270105118. 2
878270105119. 3

878270105120. 4

Question Number : 21 Question Id : 87827026652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n a certain code :

"He 15 a world champion’ is written as ‘ya, sa, za, ma, ka’, "World is a family” is written as 'ma, sa,
ba, za' ‘Being champion is difficult’ is written as fa, sa, da, ka’. What are the codes for ‘champion’
and 'is' ?

(1) za,sa

(2) ma,sa

(3

)
) ka, sa
@)

ma, ka
Options :
878270105121. 1
878270105122. 2
878270105123. 3

878270105124. 4



Question Number : 21 Question Id : 87827026652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T Hiaud F2 ¥,

‘o U foava fasiar & &1 ‘o, @, o, | ' S w9 H foran S ¥,
‘fova w aferR &' 1 =, W, S w9 H forar S R,
foem e wfea e ®'F, W, 9, /' F I H formr 9 € @
“Fostar’ 9 ‘%' F fau s g2 &2

(1) =, -1
(2) HIL |
(3) I &I
(4) HI, =Rl
Options :

878270105121. 1
878270105122. 2
878270105123. 3

878270105124. 4

Question Number : 22 Question Id : 87827026653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Determine the next term in the following letter - cum - number series :
A2, BOX, CoW, DTV s P

(1) EBU
(2) ElIK
3) EI1l]
4) EeU
Options :

878270105125. 1

878270105126. 2



878270105127. 3

878270105128. 4

Question Number : 22 Question Id : 87827026653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

e S1ER-Te- 3 g@et § el Ug ok ¥R #ife .
A2Y, B3X, C6W, D7V, _ 2

(1) EBU
(2) EllK
&) Elll
(4) EsU
Options :

878270105125. 1
878270105126. 2
878270105127. 3

878270105128. 4

Question Number : 23 Question Id : 87827026654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

A certain sum of money is lent at a compound interest rate of 10% per annum payable half-yearly.
What is the effective annual rate of interest ?

(1) 10.10%

(2) 10.16%
(3) 10.20%
(4) 10.25%

Options :
878270105129. 1

878270105130. 2

878270105131. 3



878270105132. 4

Question Number : 23 Question Id : 87827026654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T FHHAT SR 1 i &9 & 9 10% i Thafs o R F0 F €99 G T &1 I

& o At @ 2

(1) 10.10%

(2) 10.16%
) 10.20%
) 10.25%
Options :
878270105129. 1
878270105130. 2
878270105131.3

878270105132. 4

Question Number : 24 Question Id : 87827026655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ram can finish a work in 18 days. Shyam is twice as efficient as Ram. If both of them start the
work together, how many days it will take them to finish the work ?

(1) 6 days

(2) 8days
(3) 9 days

(4) 12 days
Options :
878270105133. 1
878270105134. 2
878270105135. 3

878270105136. 4



Question Number : 24 Question Id : 87827026655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T T 7 1 18 T & T U9 &1 T R gor o v S e g | A o S O e
R FL A 3% A T w0 ¥ T fod w2

(1) 6fe

) 8fd

(3) 9fH

@) 12fH
Options :
878270105133. 1
878270105134. 2
878270105135. 3

878270105136. 4

Question Number : 25 Question Id : 87827026656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a class there are 8, 10, 25 and 17 students having their weights in the following ranges : 50 - 54
kg, 54 - 58 kg, 58 - 62 kg and 62 - 66 kg, respectively. What is the mean weight of a student of the
class ?

(1) 55.6 kg

(2) 565 kg

(3) 94 kg
(@) 602kg

Options:
878270105137. 1

878270105138. 2

878270105139. 3



878270105140. 4

Question Number : 25 Question Id : 87827026656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
F F& H 8, 10,259 17 foenfeal o oo 59 5054 Fam, 54-58 o, 58 - 62 fm. 9 62- 66
frm = A %1 o1 & 0 o 0 e e e €7
(1) 5.6
(2) 565w,
(3) 594 6.
(4) 602 .
Options :
878270105137. 1
878270105138. 2
878270105139. 3

878270105140. 4

Question Number : 26 Question Id : 87827026657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged is order of increasing connotation ?
(1) Cow, bovine, mammal, vertebrate, animal
(2) Mammal, vertebrate, bovine, animal, cow
(3) Vertebrate, animal, mammal, bovine, cow
(4)  Amimal, vertebrate, mammal, bovine, cow

Options :

878270105141. 1
878270105142. 2
878270105143. 3

878270105144. 4



Question Number : 26 Question Id : 87827026657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafad § § SF-1 e F Jed o1y § Srafem g2
(1) T, 7T, SaE, w9, 19

(2) AT, FRER], T E, TY, T

(3) HIIERI, WY, T, TSI, T

(4) T, HIER!, WEIEL, TIGE, T

Options :

878270105141. 1

878270105142, 2

878270105143, 3

878270105144. 4

Question Number : 27 Question Id : 87827026658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I :  The concept of validity cannot be applied to single propositions.
Statement II:  The concept of truth cannot be applied to arguments.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1

) Both Statement I and Statement II are correct
2)  Both Statement I and Statement II are incorrect

)

)

(
(3
(4

Statement | is correct but Statement Il is incorrect
Statement [ s incorrect but Statement Il 1s correct

Options :
878270105145. 1

878270105146. 2

878270105147. 3



878270105148. 4

Question Number : 27 Question Id : 87827026658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

EHET IR R

FOAL: A F Fhed Tha Fagifiadl T AT Tl & TRl 2 |
FAA: T Fehed JfRm W ST Ta & Tl ¢ |

TR FU & e 8, = fo m fowed § § wed Suge IR i 99 Fife
(1) oA I 3T e 11 <HT T8 &

(2) HUFI 3R FHI I T e §
(3) U LFE &, wifehd A 1L 7Terd &
(4) YA [T 8, AR R [ HE #

Options :

878270105145. 1
878270105146. 2
878270105147. 3

878270105148. 4

Question Number : 28 Question Id : 87827026659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which fallacy in committed in the following argument “What is good for each individual type of

business cannot be bad for economy as a whole”. ?
(1) Red herring

(2) TFallacy of composition

(3) Slippery slope

(4)  False cause

Options :

878270105149. 1



878270105150. 2
878270105151. 3

878270105152. 4

Question Number : 28 Question Id : 87827026659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
fretferfign ofs § @ @ o < Fifea & - 9 70 wfied YR F wE & fou o 3 § 9
e areferary F fou e T @ s e ?
® R

Options :

878270105149. 1
878270105150. 2
878270105151. 3
878270105152. 4

Question Number : 29 Question Id : 87827026660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  The statement “Swati's mind is a tree always laden with fruitful ideas” is an
analogy.

Statement II:  The statement “Swati’s mind is a tree always laden with fruitful ideas” is only
descriptive in nature.

In the light of the above statements, choose the most appropriate answer from the options given

below :

()
o
(3) Statement I is correct but Statement Il is incorrect
@

Both Statement I and Statement II are correct
Both Statement I and Statement Il are incorrect

Statement [ is incorrect but Statement 11 is correct
Options :

878270105153. 1

878270105154. 2

878270105155. 3

878270105156. 4

Question Number : 29 Question Id : 87827026660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T q Fom UM g

T T O 9 E; S ged IR o & e " €1 - 7 F O €
T T P O 9, W Hea S fo W @@ T § 1 - T8 Fo e e ¢ |
TR TR & el §, T fou T foeredl H | W e I T Hif

(1) U1 S e 1S R

(2) YR ST HI I T €

() FURITE &, o HUF 1 T &

(4) RO Lo €, Wi e 1 &

Options :
878270105153. 1
878270105154. 2

878270105155. 3



878270105156. 4

Question Number : 30 Question Id : 87827026661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Among the five propositions in Nyaya syllogism the first (pratigia) coincides with
the fifth (nigaman).

Statement I1:  Among the five propositions in Nyaya syllogism the second (hetu) coincides with
the fourth (Upanaya).

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement Il is incorrect

(4) Statement I is incorrect but Statement Il is correct
Options :

878270105157. 1
878270105158. 2
878270105159. 3

878270105160. 4

Question Number : 30 Question Id : 87827026661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



LECERINH R

FH: I A e vt ¥ F gom (i) g9 (F) & orges 3 g
FAI: e = § O ot | 9 fde (1) %lg?i 30T % 369 el ¢ |
T B F e 5, A o T fomed § 9§ ued Suge I F1 99 Hif

(1) e 1 3 e 1 < o &

(2) R 3R FHIA S T &

(3) HARITE 2, A woR 11 TTerd &

(4) YR LT &, AR A L FE &

Options:

878270105157. 1
878270105158. 2
878270105159. 3

878270105160. 4

Question Number : 31 Question Id : 87827026662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : (21E);, = (341)y,
Statement (II) : (257);, = (101);,

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
(2
(3
(4

) Both Statement I and Statement II are incorrect
) Statement | is correct but Statement 11 is incorrect
) Statement I is incorrect but Statement I is correct

Options :

878270105161. 1
878270105162. 2
878270105163. 3

878270105164. 4



Question Number : 31 Question Id : 87827026662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

= SITHeE 9 WeW ek Yomferdl W SeTia < weA fou M g

FHT(): (2E)y, = (541)y,

HI (ID) : (257)y5 = (101),4

ST FOF & T §, A9 T T fowed § ¥ uad Iuged IR T wif
(1) oA 1 3 &M 11 <Hi Te &

(2) YA SR HIR 1 T e &
(3) YA LFE &, wifehd A LI 7Terd @
(4) AL &, AfhT HIT U HE ¢

Options :

878270105161. 1
878270105162. 2
878270105163. 3

878270105164. 4

Question Number : 32 Question Id : 87827026663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) :  The most suitable storage medium for storing data on network server s a blu-ray
dlisc.

Statement (I) : An optical disc which cannot have data updations is a CD - ROM.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect
)

(4) Statement I is incorrect but Statement II is correct



Options :

878270105165. 1
878270105166. 2
878270105167. 3
878270105168. 4

Question Number : 32 Question Id : 87827026663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
EEEE AR e
FUA (1) : 2T Hol T SRT YERT oY WAl SUgE WeRm WAy w1 fei 7
HUA (1) : F -1 37 T 7% yEwiE fer ot © o e ere T @ g €
TR HYA % e ¥, 1= T T fowed § 3 Wel Iuged IR F 99 i
(1) A 1 S e 11 ST Tt 2
(2) U1 S R T e
(3) TR IHE 8, Tl IR 1 Terd &
(4) IR 1T T, AR RO N TE §
Options :
878270105165. 1
878270105166. 2
878270105167. 3

878270105168. 4

Question Number : 33 Question Id : 87827026664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement (I) :  Webex by Dell Technologies, is the leading enterprise solution for video
conferencing, online meetings, screen share, and webinars,

Statement (II) : GIF is an image file format and stands for Graphics Interactive Format.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2)
(3) Statement I is correct but Statement II is incorrect
@)

Both Statement I and Statement Il are incorrect

Statement 1 is incorrect but Statement 11 is correct

Options :

878270105169. 1
878270105170. 2
878270105171. 3

878270105172. 4

Question Number : 33 Question Id : 87827026664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR Frfoum e
T (1) : S0 SHIANE Fl J9 Afeq FhY, AT 905, Thit Tedo AR AR TG
TTFH T (TEH) )

T (1) : S o TF T o T o1 € SR 25 0 ®Y WiRe $eNufRd W |
TR T F e 5, e e el § 4 e U T 9 i
(1) e HA N T8 &

() IR KR T

) TR T ol FIR LT &

(4) I LT ¢, il B LT &
Options :

878270105169. 1
878270105170. 2

878270105171. 3



878270105172. 4

Question Number : 34 Question Id : 87827026665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
A musician uses a broadband Internet connection to download music. In this context, which of
the following statements are true ?
(A) Some rural areas in India have poor broadband access.
(B) There is no need to dial up, broadband is always connected.
(C) You cannot use the landline phone at the same time while using the broadband Internet.
Choose the correct answer from the options given below :
(1) (A)and (B) Only

() (A)and (C) Only
(3) (B)and (C) Only
) (A),®and

Options :

878270105173. 1
878270105174. 2
878270105175.3

878270105176. 4

Question Number : 34 Question Id : 87827026665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T Wiicen 9 SR H o F1E98 3201 i 1 W i ¢ | WH A, e an g
TR E!

(A) T H %@ T &5 H STeds 39 g ¢

(B) S A 1 IS A Tl €, 1T T 0 T B

C) IEHE 3THE FT T H WA AV AT B 1 TAN T B T ¢

e fou o fommedt o @ W I F T FHifow

Options:

878270105173. 1
878270105174. 2
878270105175. 3

878270105176. 4

Question Number : 35 Question Id : 87827026666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - II

(Software) (Most appropriate use)
(A) Desktop publishing software  (I)  Keeping records of employees of large organisation
(B) Presentation software (Il)  Matching illness to symptoms
(C) Inference Engine (II) Producing a multimedia slideshow
Database software (IV) Producing a magazine

D)
Choose the correct answer from the options given below :

(1) (AHIV), (B) (I, (C) (1D, D)-
@ (A}), BRI, ©-(I), O)-1V)
() (AHIV), (B)- (Hl) -, O-(0)
(@) (AR, E)-0), ©-0, O)-AV)

Options :



878270105177. 1
878270105178. 2
878270105179. 3

878270105180. 4

Question Number : 35 Question Id : 87827026666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tell-1 & T Gel-1l 1 e i

gel-| gell-11

(ARaw) (raifiren e T )
(A) @Y Tfsf¥iT dRaR () 99T ¥ FHErE & diemEl & EEE
(B) TSy TiwRaR () <o 1 e @ faem S
) FFE I () Wt wifean wiee 9 s
(D) STy Hwa (V) wf e
= fqu e fosedi § & W S T FIC
(1)  (AMIV), (B)-(I), (O)-(), (D)D)
) (AHD, B}, ([©HI), [D)-(IV)
()  (AMIV), (B)-(D), (C)-(1), (D)D)
(4) (A, B, (©)-O. D)-V)

Options :

878270105177. 1
878270105178. 2
878270105179. 3

878270105180. 4

Question Number : 36 Question Id : 87827026667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I :  The total solids (dissolved and suspended) in a waste water sample are the
materials left after water has evaporated from the sample.

Statement I1:  The dissolved solids fraction usually includes colloidal particles.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct
Options :

878270105181. 1
878270105182. 2
878270105183. 3

878270105184. 4

Question Number : 36 Question Id : 87827026667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T F fum e
FOL: A A & T H 5 o (fomtm ol felfen) T 3 9@ % avigd 3 F 9.
e i 2

o 11 ;  foa 3rg o & S #iee Fv i 8 €

TR T F e 5, e e el § 4 e U T 9 i
(1) e HA N T8 &

() IR KR T

) TR T ol FIR LT &

(4) I LT ¢, il B LT &
Options :

878270105181. 1
878270105182. 2

878270105183. 3



878270105184. 4

Question Number : 37 Question Id : 87827026668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : When a hazardous waste has either high or low pH value, it must be treated for
neutralization before discharge.

Statement (II) : Sulfuric acide and Hydrochloric acids are added to hazardous waste with low
pH value to neutralise it

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct
Options :

878270105185. 1
878270105186. 2
878270105187. 3

878270105188. 4

Question Number : 37 Question Id : 87827026668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



TS Fo feum §:

oM (1) : 5 el e e & pH A o 21 0 2 2, 79 Tk T B 78 s o
% foru s o forn o1 rfe)

O (1) : F pH T 9] GACH S F1 3 a7 % Foft 30 Tewf o o aeg i
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Options:

878270105185. 1
878270105186. 2
878270105187. 3

878270105188. 4

Question Number : 38 Question Id : 87827026669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following gases were covered under Kyoto Protocol ?
(A) Carbon dioxide (CO,)

(B) Methane (CH,)

(C) Nitrogen dioxide (NO,)

(D) Nitrous oxide (N,O)

(E) Sulfur dioxide (50,)

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2) (A), {B ) and (C) Only

(3) (B), (C) and (D) Only

@) () {D ) and (E) Only

Options :

878270105189. 1



878270105190. 2
878270105191. 3

878270105192. 4

Question Number : 38 Question Id : 87827026669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Fopetfetfias & & = o T = STl ® siara e o 2
(A) A SESAFRS (COy)
(B) HI% (CH,)
(C) -TEENH SRATFES (NO,)
(D) ELH AHES (N,0)
(E) HH SEATHEES (SO,)

== fou v fawregi § 9 W& ST F =TI HifIC ;

(1) ed (A), (B) &R (D)
(2) ad (A), (B) &R (C)
(3) @ (B), (C) &R (D)
4) e (O), (D) ¥R (E)
Options :

878270105189. 1
878270105190. 2
878270105191. 3
878270105192. 4

Question Number : 39 Question Id : 87827026670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Temperature inversion in the atmosphere mainly causes ?
(1) Dust storm

(2) Dispersion of air pollutants

(3) Accumulation of air pollutants

(4) Ozone depletion

Options :

878270105193. 1

878270105194. 2

878270105195. 3

878270105196. 4

Question Number : 39 Question Id : 87827026670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270105193 1

878270105194, 2

878270105195. 3

878270105196. 4

Question Number : 40 Question Id : 87827026671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in increasing order of DDT concentration among them as a result of
bioaccumulation/accumulation :

(A) Fish

(B) Water body

(C) Fish eating birds

(D) Zooplanklons

Choose the correct answer from the options given below :

M () 6) 0,0
QB 0@

) () )
G © O) @A) 6
(@) () (4), (©), D)

Options:

878270105197. 1
878270105198. 2
878270105199. 3

878270105200. 4

Question Number : 40 Question Id : 87827026671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Frefefiaa 1 o e aear & TROTEa®Y 370 SIe1d) & Fohall o &) #o | ofaften Fife
(A) r@vﬁ
(B) el
(@) mwm&ﬂ
(D) Tiftrerarh
T fou o fomred! # @ W I H T Ffo0

Options :
878270105197. 1

878270105198. 2



878270105199. 3

878270105200. 4

Question Number : 41 Question Id : 87827026672 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following has been described as the Magna Carta of Indian education ?
(1) The Indian universities Act, 1904
(2) Hunter commission report
(3) Sargent plan
(4) The Education Dispatch of 1854
Options :
878270105201. 1
878270105202. 2
878270105203. 3

878270105204. 4

Question Number : 41 Question Id : 87827026672 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e o & frd aredtg foren s wRifenr- 95 &l 79 © 2
(1) wrdra favafaarea sfafaam, 1904

(2) B A gfdecA

(3) Wi AT

(4) 1854 =1 forem T (fedi=)
Options :

878270105201. 1
878270105202. 2
878270105203. 3

878270105204. 4



Question Number : 42 Question Id : 87827026673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In its early years, the calcutta university had affiliated colleges even in :

(1) Afghanistan
(2) Kashmir
(3) Sri Lanka (Ceylon)
(4) Goa
Options :

878270105205. 1
878270105206. 2
878270105207. 3
878270105208. 4

Question Number : 42 Question Id : 87827026673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A Ry g9 § e favafamem & = 4 o 99 gefaamE 9.

(1)  STEMEH
(2) FER
(3) e (Fem)
(4) T
Options:

878270105205. 1
878270105206. 2
878270105207. 3
878270105208. 4

Question Number : 43 Question Id : 87827026674 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I1
(Pre-Indepence College) (Place)
(A) Reid college () Allahabad
(B) Forman college (I) Aligarh
(C) Muir central college (III) Lucknow
{D) Anglo oriental college (IV) Lahore

Choose the correct answer from the options given below :
(1) m)- I), {B -(ID, (C)-(111), (D)-(IV)

(2) (A, {III} C)-(IV), (D)~(T)

@) (A (111), (B)-(IV), (©)-(1), (D)-(11)

) A) (IV), (B)-(I), (C)-(IT), (D)-(IIT)

Options :

878270105209. 1

878270105210. 2

878270105211. 3

878270105212. 4

Question Number : 43 Question Id : 87827026674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Geil-1 & Ty gei-11 %1 fierm wifsn
Tell-1 Tt-11

(TEeET gd Hefaeed ) (7am)
(A) TS FrIw () scIemEE
(B) TRITHA STerst (II) STeTTg
(C) T H2d Hersl (IIl) &S
(D) Ural-Sdza et (IV) RR

e feu 7 fawedi d © W SO 1 994 ST
(1) (A)-(D), (B)-(1D), (C)-(IH) (D)-(IV)

(2)  (A)-(1D), (B)-(I11), ) (D)-(I)

(3) {A) ~(IIn), (B)-(IV), (C)-(I) (D)-(10)

) (A)IV), (B)-(I), (C)-(II), (D)~(ILI)
Options:

878270105209. 1

878270105210. 2

878270105211.3

878270105212. 4

Question Number : 44 Question Id : 87827026675 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  In Nalanda, apart from Buddhist canonical texts, the vedas were also taught.

Statement II: However, attempts were made to discourage the teaching of literature of the
rival religions.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

2

(3) Statement I is correct but Statement II is incorrect

@)

Both Statement I and Statement Il are incorrect

Statement 1 is incorrect but Statement 11 is correct

Options :



878270105213. 1
878270105214. 2
878270105215. 3

878270105216. 4

Question Number : 44 Question Id : 87827026675 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270105213. 1
878270105214 2
878270105215. 3

878270105216. 4

Question Number : 45 Question Id : 87827026676 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I :  India spends one of the lowest amounts per student for higher education in the
world.

Statement II:  The percentage expenditure on university and higher education in India was
(.77 percent in 1990 - 91 and it declined to 0.66 percent in 2004 - 2005,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1

) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
)

)

(3
(4

Statement | 1s correct but Statement 1l 1s incorrect
Statement [ is incorrect but Statement 11 is correct

Options :

878270105217. 1
878270105218. 2
878270105219. 3

878270105220. 4

Question Number : 45 Question Id : 87827026676 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270105217. 1

878270105218. 2



878270105219. 3
878270105220. 4

Sub-Section Number : 3
Sub-Section Id : 8782701157
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827026677 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Over the past 160 years, life expectancy in the industrialized world has increased at the steady
rate of a quarter year every year. At first, the change was driven by the spread of things today
often taken for granted : clean water, sewage and waste disposal, better nutrition, vaccines, and
antibiotics. By the late 1970s, these innovations had reached the point of diminishing returns, yet
at almost the same time, new technologies began to produce real gains in the fight against the most
deadly remaining threats : cancer, heart disease, and strokes. Even counting the least development
countries, the average person worldwide can expect to live to nearly 70 up from the mid 30s at the
turn of the twentieth century.

Though, the future is certainly impossible to predict, many forward looking thinkers have begun
to broach the possibility that at some point in the next twenty years a child will be born who will
live to the now unimaginable age of one hundred forty; his of her children may, in turn look
forward to a world in which there exists no “Natural” limit on the age to which one might expect
to live. Barring random accident or deliberate homicide, men and women separated from us by
only two generations might live indefinitely. In principle, all that is required is for technology to
continue advancing faster than one ages.

Such optimism must, however, be tempered with an awareness of life's social and physical limitations.
Today’s developing technologies will no doubt be expensive and increasingly so at the upper ends
of the age spectrum, further increasing the gap between rich and poor. As lifespan increases,
previously rare maladies will loom even larger. Alzheimer’s, a growing threat to today’s elderly,
was almost unknown before the 19505, primarily because, statistically speaking most people died
before symptoms developed.

Sub questions

Question Number : 46 Question Id : 87827026678 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The increase in life expectancy was initially due to the availability of :
(A) New technologies

(B) Clean water

(C) Vaccines

(D) Antibiotics

(E) Better nutrition

Choose the correct answer from the options given below :
(1) (A), (©), (D) and (E) Only

(2) (A) and (D) Only

(3) (B), (C), (D) and (E) Only

4) (A) and (C) Only

Options :
878270105221. 1
878270105222. 2

878270105223. 3

878270105224. 4

Question Number : 47 Question Id : 87827026679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Many “forward looking thinkers” predict that in the next twenty years, life expectancy will :
(1) Increase marginally
2)  Decrease

) Remain static

)

(
(3
(4) Increase dramatically
Options:
878270105225. 1
878270105226. 2
878270105227.3

878270105228. 4



Question Number : 48 Question Id : 87827026680 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Alzheimers, was almost unknown before the 1950's because :
(1) People were healthier.
(2) They took proper nutrition.
(3) People died before the onset of the disease.
(4) People did physical work.
Options :
878270105229. 1
878270105230. 2
878270105231. 3

878270105232. 4

Question Number : 49 Question Id : 87827026681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is true about promising new technologies ?

(A) They will be expensive for older people

(B) They will give rise to rare maladies

(C) They will increase the gap between the rich and the poor
(D) They will be harmful

Choose the correct answer from the options given below :

(1) (A) and (C) Only

(2) (A), (B) and (C) Only

(3) (B), (C) and (D) Only

(4) (C) and (D) Only

Options :
878270105233. 1

878270105234. 2

878270105235. 3



878270105236. 4

Question Number : 50 Question Id : 87827026682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : Promising new technologies will not increase the life span of the people living in
the least developed countries.

Statement (II) : Promising new technologies to extend human lifespan will successfully overcome
all social and physical limitations.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct
Options :

878270105237. 1
878270105238. 2
878270105239. 3

878270105240. 4

Question Id : 87827026677 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827026678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270105221. 1
878270105222. 2
878270105223. 3

878270105224. 4

Question Number : 47 Question Id : 87827026679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270105225. 1
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Question Number : 48 Question Id : 87827026680 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270105229. 1
878270105230. 2
878270105231. 3
878270105232. 4

Question Number : 49 Question Id : 87827026681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270105233. 1
878270105234. 2
878270105235. 3

878270105236. 4

Question Number : 50 Question Id : 87827026682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270105237. 1

878270105238. 2

878270105239. 3

878270105240. 4
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